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Please check whether youy ha
All Questions are compulsory

2. Figures to the right indicate ful marks. SRS A - : i

ve got the right question paper. < SESTEN
N.B: 1. el 5

Q.1

Answer any two questions from the following,

A. What is risk? Explain types of risk.
B,

C.

+30% in developing residential township. .
Average beta of return from _
commercial construction js measuredzatfl.i’__}sf ﬁé :
Benchmark Index yields 12.40% retu
5.75% RX-cube 37.71% PR UV 0

Ascertain Jensen’s Alpha relatiné io"f’)f-Cubé P

. i
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S measured at's,

Q.2
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Answer any two questions from.,\tﬁe'fo'l'lgwipé,;- e o
A. How can derivative help to mitigate risk? -

B.  Explain Markowitz rjs"g;rg_t__u\_r.n--vquel,\j'__"_Z__; ;

15

C. Define ERM and E;cheg's"‘-of:g_sﬁé;_-’i o (U

i
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< Q.3 Answer any two ql.,n:_-_stf.;_j*ﬂ5 'f';'oml't“hﬁ'”fghp

<." ,\§ -\ _< 3
wlngtr_ i
A. Explain the,fg_l!gw_ing concept .- o o
h N e Ay N

1. Riskassurance < .-
2. Corporate Governance
3. Mdnaging stake Folders - ACHENL
B. Whate §J’_§{;t-h;g‘.t\gp\'gs“off\_{ar'ig(;s" of sh e
i €.~ Bxplainin detail Thiee Line Defe|
s L A4

i
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15

15

ith prob 0.16
With prob.0.90

With prob 0.04

< Policy provide full coverage

i Underwriting cost of 205

il Interest rate 79 <

AR AR Expected claim processing cost Rs.1500/-
NS4 Profit’5% of pure premium.

b U v ol )

of pure premium
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